
Answer on Question #74503 – Math – Calculus 

Question 

If 𝑓(𝑥) =
4𝑥2−7𝑥−2

𝑥−2
, 𝑥 ≠ 2,  find a 𝛿 > 0 such that |𝑓(𝑥) − 9 | <

1

100
  for 0 < |𝑥 − 2| < 𝛿 . Hence 

show that lim
𝑥→2

𝑓(𝑥) = 9 ? 

Solution 

4𝑥2 − 7𝑥 − 2

𝑥 − 2
=

(4𝑥 + 1)(𝑥 − 2)

𝑥 − 2
= 4𝑥 + 1 

|𝑓(𝑥) − 9| <
1

100
 

|4𝑥 + 1 − 9| <
1

100
 

|4𝑥 − 8| <
1

100
 

4|𝑥 − 2| <
1

100
 

|𝑥 − 2| <
1

400
 

𝛿 =
1

400
 

lim
𝑥→2

𝑓(𝑥) = lim
𝑥→2

(
4𝑥2 − 7𝑥 − 2

𝑥 − 2
) = lim

𝑥→2

(4𝑥 + 1)(𝑥 − 2)

𝑥 − 2
= lim

𝑥→2
(4𝑥 + 1) = 4 ∗ 2 + 1 = 9 

Answer: 𝛿 =
1

400
, lim

𝑥→2
𝑓(𝑥) = 9. 

 

 

 

 

 

 

 

Answer provided by https://www.AssignmentExpert.com 

https://www.assignmentexpert.com/

